Sr Questions Answers Choice

A. <p
class="MsoNormal">Sodium<o:p>
</o:p></p>

B. <p
class="MsoNormal">Nitrogen<o:p>
</o:p></p>

C.<p
class="MsoNormal">Oxygen<o:p>
</o:p></p>

D. <p
class="MsoNormal">Phosphorus<o:p>
</o:p></p>

1 The screen of a cathode ray tube consists of a thin layer of:

A. <p class="MsoNormal">1895<0:p>
</o:p></p>
B. <p class="MsoNormal">1896<0:p>
</o:p></p>
C. <p class="MsoNormal">1897<o:p>
</o:p></p>
D. <p class="MsoNormal">1998<o0:p>
</o:p></p>

2 J.J Thomson observed deflection of cathode rays in:

A. <p class="MsoNormal">AND &amp;
OR<o0:p></0:p></p>
B. <p class="MsoNormal">AND &amp;
: frgn . NOT<o:p></0:p></p>

3 Which combination forms NAND gate: C. <p class="MsoNormal">NOT &amp:
OR<o0:p></0:p></p>
D. <p class="MsoNormal">NAND
&amp; NOT<o:p></o:p></p>

A. <p class="MsoNormal">Series<o:p>
</o:p></p>
B. <p
class="MsoNormal">Parallel<o:p>

4 In OR operation inputs are connected as: </o:p></p>
C. <p class="MsoNormal">Both series
or parallel<o:p></o:p></p>
D. <p class="MsoNormal">None of
these<o:p></o:p></p>

A. <p class="MsoNormal">Dot (.)<o:p>
</o:p></p>

B. <p class="MsoNormal">Addition (+)
<o:p></0:p></p>

C. <p class="MsoNormal">Division
(<span style="font-family: Arial, sans-
serif; color: rgb(34, 34, 34);
background-image: initial;
background-position: initial;
background-size: initial; background-
repeat: initial; background-attachment:
initial; background-origin: initial;
background-clip: initial;">+</span>)
<o:p></0:p></p>

D. <p class="MsoNormal">Minus (-)
<o:p></0:p></p>

5 AND operation is represented by:

A. <p class="MsoNormal">AND<o:p>
</o:p></p>
B. <p
class="MsoNormal">NANAD<o:p>

6 Which gate is used for safety alarm: </o:p></p>
C. <p class="MsoNormal">OR<o:p>
</o:p></p>
D. <p class="MsoNormal">NOR<o:p>
</o:p></p>

A. <p class="MsoNormal">Diode<o:p>
</o:p></p>

B. <p class="MsoNormal">Switch<o:p>
</o:p></p>

C.<p
class="MsoNormal">Transistor<o:p>
</o:p></p>

N <n

7 LDR can act as:
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1"

12

In medical field, C.R.O is used to display:

The more negative potential of grid, the more electrons will be:

Electron gun has an electrode called for controlling the flow of electrons in the beam:

The mirror whose outer surface is reflecting is called:

The mirror whose inner surface is reflecting is called:

- .
class="MsoNormal">Rectifier<o:p>
</o:p></p>

B. <p class="MsoNormal">Pictures of
organs<o:p></0:p></p>

C. <p class="MsoNormal">Pictures of
bones<o:p></o:p></p>

D. <p class="MsoNormal">Blood
pressure<o:p></o:p></p>

A. <p
class="MsoNormal">Attracted<o:p>
</o:p></p>

C. <p class="MsoNormal">Attracted as
well as repelled<o:p></o0:p></p>

D. <p class="MsoNormal">Neither
attracted nor repelled<o:p></o:p></p>

A. <p class="MsoNormal">Plate<o:p>
</o:p></p>

C.<p
class="MsoNormal">Screen<o:p>
</o:p></p>

D. <p
class="MsoNormal">Filament<o:p>
</o:p></p>

A. <p class="MsoNormal">Concave
mirror<o:p></o:p></p>

C. <p class="MsoNormal">Mirror<o:p>
</o:p></p>
D. <p class="MsoNormal">Lens<o:p>
</o:p></p>

B. <p class="MsoNormal">Convex
mirror<o:p></0:p></p>

C. <p class="MsoNormal">Mirror<o:p>
</o:p></p>

D. <p class="MsoNormal">Lens<o:p>
</o:p></p>



